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PART -1/ wmr-1
forerr IIA
CHILD DEVELOPMENT AND PEDAGOGY / &Tet farrd &

Directions : Answer the fallowiug qucs,‘ians
(Q. Nos. 1 to 30) by selecting the most
appropriate options.

1. Learning is an active process because :

(1) learning takes place when there is
some information given to the
learner.

(2) learning refers to memorization
and an active change in one’s
behaviour.

(3)  knowledge is constructed by the
learner by acting upon it.

(4)  leaming is governed primarily by
biological factors.

2. In the context of students’ readiness to
learn it is important for the teacher to :
(1)  gauge the motivation of students
to learn.
(2) apply ‘Law of Readiness’ to the
students.
(3) assess the general l;nowledgc of
students.
(4) disregard students’  previous
learnings.

- In an effective classroom :

(1) the students are in competition
with one another to score more
marks.

(2) the teacher prepares a lesson,
presents it as a lecture and
discourages discussion.

(3) the teacher encourages discussion
and makes connections with the
students’ previous knowledge and
background.

(4) the students passively follow the
directions of the teacher.

Scanned by CamScanner

ey et e ey G Pk
@ 1 830) %I |

1. ﬁmwm’ﬁ"‘"t :
(1) mﬁm%wﬁmﬁfﬁ?ﬁ
s R T E |
mm—#a‘l’tﬁﬂﬁ%mﬂ
@ .
3) mﬂwm@ﬁmlﬂ'lmﬂ
forafor @eaT & |
frdfira gleT € |
9 e & v T B AR FEM A TH
fyrers 3 FoT aF WEIQUT € :
(1) aﬁﬂﬂ%ﬂﬁfﬂﬁﬂf@lﬁmiﬁ
HIGAT |

@) e W AAR B A HE |
() w9 & EHR T B RO S
(@) ==t qd AEH W EHH 7 AT |

3. TS UVl HETH
(1) ofyw 3w wra == & foro Rt
TH-gH & 9 vieaifar § wa € |
(2) Frrw R AER T €, v =E=A

& T H I W H & ar ¥
&I FaleaIed ST T |

() T w=t #t Ve s &k
Rt & 0 w9 wd gewfr &
Y H&Y T ¥ |

@) Tt i w1 ¥ foreres & Rt
I A A € |




P-1

4.

R AL P A ]

Children develop interest in the

classroom when :

(1) the teacher favours only good

students.

(2) the teacher encourages and
appreciates each student 1o
participate.

(3) they sit in the big classrooms with
their friends.

(4) they don't get homework.

As children enter the school :

(1) they should be told that the school
has a different language and they
should not speak in their mother
tongue at all.

(2) their parents should be told to use
only the language of the school at
home.

(3) they should be allowed to speak in
their mother tongue because
expression is important.

(4) they should be fined for not
speaking in the language of the
school.

Which one of the following best
describes a teacher’s role ?

(1) The teacher  should  focus
primarily on the knowledge given
in the textbook.

(2) The teacher should maintain her
records diligently.

(3) The general attitude of the teacher
should be to promote a feeling of
security among the children.

(4) The teacher should encourage
competition among children to
prepare them for social world.
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U ) fordi 9 AT FAE Hiye
7 How can the teacher promote 7. s ¥7
problem solving skills in the m}mﬂ;‘ﬁa‘aa“‘" )
students ? ) arq FereAor o =ie-¥AHIE H W
(1) By making use of chalk and board Exc
method in her teaching. @) - a fafag e Ieey
(2) By providing students with L ¢ AN W
diverse materials and encouraging ST C] ¥ foru wicaE 9T |
them to explore their materials.
. frigy A W IR 3R
(3) By giving them continuous ©) = T |
practice i i A A
qQuestions and laying e =t
stress on drill only. (4) g ferenfadt T RIS 6l FgmEr
(4) By promoting discipline among 3T |
her students.
8. Children formulate their own p. awd et & forq v el gt
strategies for learning. In this context, #ae Wﬁa‘iﬁmaﬁ :
a teacher : (1) @t @ gl IS | W AR
(1) needs to discard children’s mmmﬁwmﬂﬁq |
strategies and transact the lesson At
she has planned. @ = - . o
: Y I W wEl AR Hag @i
(2) needs to understand thc; children’s
strategies and discuss and have a al
dialogue with children. | (3) ==al ® UG T FA & [0 TF o4
(3) should give the children a long HIGUT 3T e |
lecture asking them not to do so. (4) uE-gwE § fefae whear @t w8
(4) should motivate the children to ¥ UM ¥ faT s=bt S Srow
strictly follow the procedures T |
listed in the textbook.
9. TW ¥ IW wnw Wy § b
9. Which one of these factors plays a WWM%?
very important role in learning ?
(1) & e T g
(1)  Genetic make-up alone
(2) Physical infrastructure (2) mmﬂ‘-ﬁﬁm
(3) Social context and emotions 3) i wariin
) SR T
(4) Maturation  and  Pphysical
appearance (4) Ry aor s oy
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10.

11.

12.

13.

“Early childhood’ refers to the period
from:

(1) 2108 years

(2) 61to 12 years

(3) birth to 5 years

(4)  birth to 8 years

Knowing about principles of growth

and development is important for a

teacher because :

(1) this knowledge would help the
teacher to segregate the children.

(2) the teacher would be able to create
a good impression.

(3) this knowledge would help the
teacher to provide the children

with appropriate learning
opportunities.
(4) this would make,  Child

Development a popular course.

A Child’s development is the result of :

(1)  upbringing

(2) a combination of heredity and
environment

(3) heredity

(4) environment

Children :
(1) are bom unruly and need to be
civilized by the society.

(2) are a gift of God meant to be
worshipped.

(3) are influenced by the social and
cultural context they grow up in.

(4) come into this world with a blank
slate.
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A 5 year old child fails to reason that
when water is transferred from a tall
and narrow glass to a wide container
the quantity of water remains the
same. This is Ibccause 3

(1) she cannot symbolize,

(2) she cannot imitate.

(3)  she cannot reverse her thinking.
(4)  her behaviour is not goal-directed.

While riding a bicycle a boy prompts
his sister — “Drive fast ! We will reach
there earlier”. He is showing an
understanding of :

(I)  Symbolic thought
(2)  Egocentric thinking
(3) Cause and effect
(4) Reversible thinking

The process of adjusting, deleting
schemas and forming new schemas to
maintain equilibrium is called :

(1)  Zone of proximal development
(2) Scaffolding

(3) Adaptation

(4) Schema formation

The term, “Private Speech” was first
used by :

(1) Kohlberg

(2) Vygotsky

(3)  Erickson

(4) Piaget

According to Vygotsky, children learn
a lot through their peers.
(1) physical fighting with

(2) imitation of

(3) interaction with

(4) competition with
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19. Kohlberg’s idea of moral development 19. wigeant & A e & feR
has levels. T\
(1) three (1) Gict
(2) four 2) =R
(3) two 3) Q
4 igh
il o @) =
20. Learner-centred approach is one in 20. ﬁm!ﬂ-%ﬁﬂmﬂtw :
;ﬂ'“"’ (1) fernferdi @ s wiafwanst & foe
1) learmers are rewarded and .
punished for their responses. TeEnR S & fea s €
(2) the teacher  focuses  on (2) fererer aai # A% FA WA TAE |
memorizing of facts. . :
: : () e & wnieets & @ Rernfedt
(3) leamers with the teacher’s
guidance are made responsible for A R T FY T T AT B
constructing their own 3 for Sereardt = sy |
understanding. ;
(4) learners are left free to learn on (4) ferarelt w4 dra & fow @aT € |
their own.
21. Intelligence includes : 21. FgAwiEe:
(1) the capacity of an individual to (1) wwEnst & FEF/mies W A &
produce novel/original answers to foT us fa w1 &
DR @) fot we o w1 o € IR @
(2) the ability to produce a single o —

response to aspéeific question.

(3) drgarsi & Y S AR @ e

(3) a set of capabilitics that allows an

individual to learn. ¥ RS A € |
(4) a permanent change in behaviour (@) FpE & UNUTHEEY FEeR H
as a result of experience. =t ufEaT
22. “The importance of communication 22. “TH a B TN H fem A @ &
with others as a major factor in the T WHET T WUl HHE § 17 A€
development of a child’s language” is
FAAE -
expressed by :
(1) Bandura () sgu=
(2) Vygotsky (2) TR
(3) Kohlberg (3) EwaT Wl
(4) Freud (4) wESH
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23. If a teacher thinks that girls need to
be given a different type of education
which would help them become good
wives and mothers, this type of
thinking :

(1) challenges the social attitude
towards girls.

(2) shows that teachers cannot and

should not try to change the social
perception.

(3)  is beneficial to the girls and would
help them to perform their roles

assigned by the society in a better
way.

(4) promotes gender bias and restricts
the potential of the girls.

24.  Assessment should focus on :
(1) increasing
children.
(2)  reducing the teacher’s work.
(3) furthering learning.
(4) labelling children.

competition among

25. Children with special needs should be :

(1) given no education at all.
(2)  given only vocational training.

(3) segregated and put in separate
institutions.

(4) included in ‘regular’ sét-ups with
special provisions.

26. To deal with diversity
classroom a teacher needs to :

in her

(1) disregard the social context of the
students.

(2)  judge the students on the basis of
their physical appearance.

(3) be sensitive to the social and
cultural context of the students.

(4) give uniform instructions and
disregard individual differences.

s o

8)

24.

25.

26.

Wﬂwtﬁfﬁm
;&ﬁﬁmﬁmﬁﬁaﬂﬁm
palipudi it Hit @A '
wow AR
e %T?

fir Foreres WIS
@ Wuﬁﬁmﬂ%qﬁaﬁmw
qﬁﬁﬁaﬁmmaﬁfl
s b e
& mﬁﬁ‘f‘ﬂaﬁaﬁm
P 7 5 3 T |
4 fom e W A S Ao
( % &y sarai @ e H
T
oo o g () AT T

(1) el P T |
(2) 3T 1 T |
(@) T @ ST =g

(4) ==l &1 eRTor HET |

T wfee i faste sraygesaret St w=a
o

(1)  i$ feorear & <t sw |

(2) aw AT e € s |

(3) e wh o e ® @

(@) foviy sEEnr o Fratm = S
ke &Y |

ot e fafremn wt et ¥ R
e =t

@A) & Wi ot gk
W& ol w3

" eI ¢ | -
NSNS I T S
R B "

Scanned by CamScanner




28.

29.

30.

How would you identify a child with
learning disability ?

(1) by administering intelligence tests
physical

(2) by their

appearance

seeing

(3) by looking at their note books for
writing
(4) by observing how much they fight

with other children

A creative child has the following
characteristic :

(1) rigid in approach to problem-
solving

(2) ability to rote memorize

(3) conformity to the given rules and
norms

(4) original thought and expression

Creativity includes the ability to :
(1) copy and imitate others.
(2) do divergent thinking.

(3) rote memorize long, passages and
sequences of numbers.

(4) do convergent thinking.

When a child’s capability in any

particular area of development is low,

it :

(1) does not influence her overall
development.

(2) does not mean delay in any area
of development.

(3) has an impact on all areas of
development.

(4)  has no effect on the child.
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"PART -1/ 90T - 11
MATHEMATICS / 0T

Direction : Answer the following questions by

selecting the correct/most appropriate options :

31. It is often found that learners at
primary level experience difficulty in

comprehending word problems. This
problem can be best addressed by :

(1) introducing word problems in
mother tongue as well.

(2) giving a lot of word problems for
practice.

(3)  eliminating word problems from
the primary Mathematics
Curriculum.

(4) asking learners to look into
dictionary for meanings.

32. A teacher of Class IIl gives the
following word problem on
“subtraction” to the class : '
“A crate can have 50 bottles. 20 bottles
are already in it. How many more
bottles can be put into the€rate ?”
This type of word problem belongs to
which one of the following categories ?

(1) Comparison

(2) Complementary addition
(3) Partition

(4) Reduction

Pyt . wER I e

gr. dar ar & s SRR WY W

wfoenf et & 1§ T T

31.

fpar T WHATE :
0 ﬁﬁm'aﬁma*ﬂmﬁ‘ﬂ“ﬁﬂ
FAH | rﬁ
2) IaE & forg aga U
w3 4 |
e T T TR % UISTEA §

) o e R P 23R
() Rt @ vl & o & faw
| yrE I TENT B Bl HERT |

o 111 3 STeATq  HEl i HAHe T
fore ynfees wo foa

wuEr g | 50 @il AT Webelt & | IR
TEer @ @ 20 aeet § 1 79w o e
et o e AT ehelt § 27

T UHW H Wi o Frfefes & &
Hi-H Sivit @ Gefaa 2

(1) o |

(2)  9hT I Qe

(3) fawsm

(4) =i

32.
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33

While working on fractions, a student

of class V, does the question as follows :
2 1 1
330

As a teacher, which one of the

following strategies would be most

appropriate to follow ?

(1)  explain the eror by using a
fraction kit or paper folding

(2)  ask the student to do the same
question 10 times so that he she
will not repeat the mistake

(3) tell the algorithm for subtraction
of fractions

(4) give more questions for practice

Which one of the following is the best

resource to compare the areas of two

leaves in Class V' 2

(1) Geo board

(2) Graph paper

(3) Scale

(4) Thread

(i

U
wen VW u Rl A e w e wea
vt wewe R g fwan
3 1.9
3$ 30
e g A A s e Peefaiaa
¥ QA Wi gfve watfues soge @l 2
(M) et @) Ree an wmet @s @ aisa
TR i @) e |
Q) Feond # 3 we @10 WHFA S
o wen, fed fF ar ffe @
TR T &
@) f= ¥ sEwem @ wem-ai
Qe sam |
@) T & g o AR e T
FaT V ¥ T ufwal & SAeer ® e

A & forg Posfafee & | s a
waifires Sug €

(1) Faets

Q) JSE () TR

(3)  TEr e

@) amm

SPACE FOR ROUGH WORK / T% & & foq e
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36.

Which one of the following is an
important aspect of measurement of

length ?

(1) Using non-standard measures
(2) Iteration
(3)  Conscrvation of length

(4)  Ability to use scale

It has been found that ‘Games’ help in
understanding mathematical concepts

at primary level, as ‘Games’ :

(1)  break monotony in the class.

(2) help in class management.

(3) provide fun to the children.

(4) provide an opportunity for

extension of concepts.

(12)

35,

36.

(2) g

(3) s WIW

(4) ﬁmﬁﬂimaﬁm

- arar T & e At WO T
FeaTa H AR W TS T
€, wifs, @er

(1) 0t e B 5w E |
(2) T FVEYT H WEF A T |

(3) == H AT e TR F |
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37. A good Mathematics textbook at 37. wafhe ww W T w ISt
primary level should : TTEa-qETE |
(1) bhave a lot of exercises for (1) =ga ¥R wes anard & ferg f2d s
practice. wifeq |
(2)  have colourful illustrati (2) i oe ,
- ouriul Hiustrations. (3) W\'qﬂ' aﬁm%mw
(3) present a lot of worked out femar st =nfew |
examples. @) == F Aw e F T
(4) relate Mathematical concepts to THeea W weEa fw S
everyday life of the child. o |
38. A 7 year old boy recognises all four 38. WTWWWWMW
sided regular figures as squares. rERmEl W ot & w9 H gEEr T
According to Van Hiele’s, he is at A et & arEw, g A forawe =
which stage of Geometrical thinking ? fra fafad e
(1) Level 4-Deduction (1) R 4-Fm=
(2) Level 3-informal deduction (2) TR 3-IFfEs
(3) Level 2-Analysis @) w2
; wrtaes femor
(4) Level 1-Visualization @) ¥l :

39. The concept of ‘zero’ can be 39. ‘Y Wi AGERIN =1 uRt=ra fea whea
introduced best through which one of ¥ gRT I w U A R s asean € 2
the following operations ? (1) T
(1) Multiplication 2) fem

Division
“ (3) am
(3) Addition
: (4) HdHH
(4)  Subtraction

SPACE FOR ROUGH WORK / 7% & & feiq s1Te
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40. Which one of the following is not part

of Mathematics curriculum at

primary stage ?
(n Sl

(1) Symmetry

. @ -
(2) Decimals
- & . ‘Er ga'uq-
(3) Data handling 3 Fierst
(4) Ratio and Proportion (4) T S T

ml*aﬁﬁﬂmmiﬁ

41.  Which one of the following is most 41. ‘ _
appropriate to assess children’s A BT W & & forg Frferfam
understanding  of  Mathematical R RAUE S ELLE X
concepts in C_lass 1?

(1) e
(1) Observation
@) fefaa oder
(2) Written tests
(3) Oral test (3) it T
4) wRTEH

(4) Work sheets

SPACE FOR ROUGH WORK / T% %1 % {7 stiTer
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42, 11000 % 100 = 103000 -~ 7%, 42, dfz 10 2 100 - 103000 -7 2
then the number which comes in the ¥, o fraer vara ) © v vl
blank space ( )iy

() 127

()} 1N
, (2) 129

(2) 129
(3) 121

(3) 121
(4) 123

(4) 123

43.  If (the place value of 6 in 16470) - (the = e
PRI R T 43, afz (16470 | 6 %1 2AE 7 - (7605 &

place value of 6 in 7605) = 6 % 8 %
6T A AR = 6% ¥, @ ==

then the number which comes in blank

space is : ﬁﬁﬁﬁmﬁ‘;
(1) 800 (1) 800

(2) 900 (2) 900

(3) 600 (3) 600

@) 700 | (4) 700

SPACE FOR ROUGH WORK / 7% %14 % fae sre
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44. If the sum of common positive factors of

56 and 84 = 400 — 43 x , then the

number which comes in blank space is :

(1) o

2 8
Q) 2
4 3

45. If the sum of remainders, obtained on
dividing 32456 by 24 and 46951 by 83,
is divided by 16, then the remainder

will be :

(1) 4

(2 8

3) 0

4 1

45.

3T
:jmo—-”x'“’#ta}ﬁwm
P
(n o
@ 8
3) 2
4 3

af 32456 B 24 F W & T AT 4695]

51 83 & T 3 TSI P 5 7T 5}
16 % st FaT TG, A FEE T

1 4

@ 8

3) 0

@

SPACE FOR ROUGH WORK /7% &rd & foro s
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46. (The smallest common multi an
ple of 16, 46. (16, 24 AT »
24 and 36) + (the largest common (": m%ﬁlmmm...
factor of 16, 24 and 36) is equal to : o 36 T T )
(1) 36 WERE:
(2) 48 (1 36
3) 16 (2) 48
@) 24 (3) 16
(4) 24
7. Nishu has six aful a hall dozen 47. :hqla;mmgwﬁq St ¥ | T
chocolates. She gav 1 1
e gave : of these to - T 3E T w, T ':_3 T TR
.1
Ravi, £ of these to Rahul and one Y 3 gAY T WA HAR At X
o \ 3o eIl W e ¥
half of these to her other friends. The el = &
number of chocolates left with her is : (H 27
(1) 27 Q) R
(2) 32 3) 20
3 7.
(3 20 4) 26
4) 26
48. If 15 ones +15 thousands + tens 48, WX IS TG+ ISTE+ _ =
— 16165, then the number in the blank 16165‘2‘,‘6\*%%*&@1%:
space is :
o (1) 65
(1) 65
2) 115
(2) 115
1
@ 15 5
@) 30 @ 30 -

R
"~ SPACE FOR ROUGH WORK I e ae k AGIMERE
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50.

U
49. A drum contains 174 litres and 400

millilitres of oil. This oil is filled into
32 containers each of cqual size. How

much is the oil in 18 such containers ?
(1) 99.5 litres
(2) 99.8 litres
(3) 96.3 litres

(4) 98.1 litres

3
On a map, a length of : centimetre

represents a distance of 240 km on the
ground. What length on the map will
represent a distance of two cities

which are 1120 km apart on the

ground ?
(1) 6 centimetres
(2) 8 centimetres

(3) Three and a half centimetres

(4) Four and a half centimetres

(18)

49‘

50.

P.
el g W 174 feret AT 400 ml
aﬂmﬁﬁﬁﬁﬁmmzm
ﬁwﬂmg"@lsaﬁﬁﬁm
FerErm ?
(1) 995
2) 998F
3) 96.3 %
4) 98,1 fereX
mmw%ﬁﬁ’ﬂﬂﬁﬁﬂ'ﬁq
7T 240 FreiHieT @ gH B U
%m&sﬂﬁwﬂwmoﬁm’wﬂaaﬁ
ot v feerm €, At 30 AR W IR @
T g ? |
(1) 6T
(2) 8§uIHRT
(3) W dmex
(4) W% IR Ferdex

SPACE FOR ROUGH WORK / T% %4 % fera srare:

Scanned by CamScanner



P-1

(19)

51.  Which one of the following is not 51. P d @ weea waa wll Tl ¥
correct ?
(1) U& U U fhelum & Ud I
(1) One gram is one-hundredth of one .
kilogram.
(2)  One millimetre is one-tenth of one @ T ferier e o
centimetre. A |
(3)  One lakh is equal to a hundred (3) Use@ T & U AR &
thousand.
(4) UH FRT H W@ W § TH A
(4)  One hundredth of a crore is equal 1
to one lakh.
cuboidal store are 16 m and 13 m a\m%m: 16 HieT 3T 13 e & aun
respectively and its height is 11 m. TEH FOE 11 M T | T I AR
There is another cubical store whose R — - S A
internal length, breadth and height ' =
are 8 m each. How many total cubical i ’ rivw =
boxes each of side one metre can be T e TR a A 'R A
placed in these two stores to a height 7THR FTE THE @ TS E 2
of 7 metres ?
(1) 2288
(1) 2288
(2) 2800
(2) 2800
(3) 1904
(3) 1904 ,
4 1968
(4) 1968 @)
SPACE FOR ROUGH WORK / {6 %14 % et 9T
by CamScanner
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U (20) ma—;ﬁ%‘ﬁg%m! » e
53. There are two picces of wire each of 53. gﬂ;é'ﬂ qﬂ‘iaﬂ' ATl ST
length 272 e¢m. Using one piece, a ﬂ"ﬁ% e §'~Fﬂ?ﬁ'§' | afe
square is formed and using the other 4T {{ﬂ'ﬁ Lad 2 18 ok
piece, a rectangle is formed. If the side it A "F" ﬁﬁ m
of the square is 18 em more than the 3‘:&7 ﬁ;‘-q;a’f?m W(aﬁﬁtﬁ
e &, A
width of the rectangle, then the
difference in their areas (in square ﬁ)%i
cm)is: (-1) 254
(1) 254
272
@ 272 @)
(3) 224, (3) 224
4) 324 4) 324
AMHFTATAE?
54. Which one of the following is true ? 54, PreadABEA
(1) The number of seconds in 6 hours 1 6 g3 & Jde | FE& 12 et o
is equal to the number of minutes . .
in 12 days. : i
- (2) The number of minutes in 15 days @ 15 fsii ﬁ firel 9 wE § He §
is equal to the number of seconds ol i N
Hehel ol G&AT & el & |
in 8 hours.
(3) The number of minutes in 10 days 3) 10 Rt # fet w) gew 6 Rt A
is equal to the number of seconds o v N
' . Hehel ! U&HT & FET
in 6 days. l
(4) The number of seconds in 2 hours @) 2w Y 9t g 5 R A
is equal to the number of minutes i |
in 5 days. el st e & s o
SPACE FOR ROUGH WORK / T % % fTq e -
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55. When fresh fish is dried it loses . i

U
. 55. & awn wefeal wt gaan
two-thirds of its weight. Reshma buys | ISR E’f-ﬁl’ﬂi‘ WR &% & "5“:‘: %;5:
963 kg of fresh fish at the rate of 963 ﬁﬁm woe 7 25 wix fem 3;\ TR
g ¥ | 3 wofal & gEET 98
2 108.5 wft fen @ 3 ¥ | s g

3 25 per Kg. She sells them, when
dried, at X 108.5 per kg. She earns a

profit of :
AV
(1) 34828 .
1) 3482
(2) T 45582 e i
(2) 45582

(3 101115
(3) 101115

4) Z10753.
“4) 3.5 @) 107535

56. WA UH g YemEt gw 60 fRe wf

56. John travelled a distance by a train

for one hour 20 minutes at the speed o 3 = & T Her 20 Rre A T A,
of 60 km per hour, then by a bus for & g a| EW 50 ferlt wit sizr =t ==
54 minutes at the speed of 50 km per A 54 e it oo T T A AW 15 feht
hour and then by a boat for one hour yﬁrma&m%@m 16 Rz ¥ 7
36 minutes at the speed of 15 km p.crl 2 laﬂﬂimﬂﬂﬂﬁ%ﬂ{ﬂ -
hour. Total distance travelled by him
was : (1) 149 fh
(1) 149 km 2 154 Fe
) | @ 125fh
(4) 125km

— spACE FOR ROUGH WORK / T % % {e(q e
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57.

58.

A teacher Is engaging lenrners on
tople, *‘Numbers® in class L Which one
of the following is most appropriate
followed the

approach to  be by

teacher ?

Numerals  should be  introduced

(1)
belore counting,

(2) Learners  should  first  practise
writing numecrals.

(3) Numerals should be introduced
along with number names.

(4)  Numecrals should be introduced
only after the learners have

experience with counting.

Which one of the following is an

aspect of “number sense” ¥

(1)  Skip counting

(2)  One-to-one correspondence
(3)  Writing numerals
(4) Seriatioﬁ

(22)

57.

58.

— fyrarfiadt Wy
v AT A% 5
' x o ¥\ AT,
’ 1 ‘) "!1 ‘JIF' ’ c
vapuar famd

g Ferefiftad e
*m.‘rﬂ wfs
m’fﬂlm'

: a1 A nuged fem
o oo ofread 71 fl ¥
'4{"’;' hﬁf

fgrm AR %)

a7

(1)
e I (A

(2) fovart a1 A e fAad
gy Al a1 |

(3) ] Hl sz F A # g fray
gy AT AMET |

(4) ﬁﬂWﬂﬁhﬂmqﬁm

rr Favatfadi &1 O F AT A

3|

frfafaa & | FA-AT “HzA G &=

UH U F ?

(1) BIE-2T5 &7 MUAT FHAT
(2) TR A

(3) e foEar

(4) fEager

SPACE FOR ROUGH WORK / 7% T4 & et wrrer
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59. Which one of the following is most

suitable to explain *1 + 2 = 2 to

students of class [V 2

(1) Using beads and strings

(2) Using a geoboard
(3)  Using paper folding
(4)  Explaining algorithm

60. A Class II student reads 203 as twenty
three. As a teacher, which one of the
following activities would you do so

that the student realises her error ?

(1) Writing Numbers in Numeral
form
(2) Dirill and practise worksheets

(3) Using‘beads and strings

(4) Reading Number Chart

(23)

59.

60.

()

U
mlv%wm’iaﬁ*1+';=z*myrﬁﬁ:

fore Prafafias § § Soan st soges
T2

(1) ¥t 3T SR &1 W@ & |
(2) FEE & v sE |
(3) TS ot HIgHT FHAFT |

(4) wom-fafy Tz |

HuT 11 # v e 203 H W B
¥ @ dwmE TR Ok AW AW
freffas ¥ ¥ SF-ET Gramhed ST,
IR I U T T S & g ?

T & G €9 | foE |
(2) e g g 3T A HOT |
(3) I SR SR H W |

(4) EEH-TE H A |

SPACE FOR ROUGH WORK / 7% & & feiq e
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U
YART — -1 -
e S'lll"lxl?:rs /
ENVIRONMENTAL v P "
oy - waret 3 :
Directions : Answer the following questions by 3 3T T |
selecting the most appropriate options.
T g ufew:
Frtferfiaa W B
61. Read the following question carefully : ol. e — el foo ra At
How are the monkeys that dance to Wt 4 e et a mmi‘m%?
entertain people, different from the & 3 =T ATHEA femar =
monkeys that are free ? 3 A HeH
What is being assessed through this we?
item ? (1) vameehdr
(1)  Experimentation 2) ean
(2) Co-operation 3) araetdd
(3) Observation (4) fegEt
(4) Discussion
H Wt
62. A teacher, maintains record of a child’s 62. U fnaen wfafe @<t & Hraa p
progress on a day-to-day basis and also @7 &RT T@r % AR FESH S 7 ufeq
observational narrative qg-zaqyf HEATAT HT AVHARAS ATVerE ot

keeps the
records of significant incidents in his

life. The above activity is used as a/an :

(1) Rating scale

(2) Checklist

(3) Portfolio

(4) Anecdotal record

63.  Which one of the following questions on
‘birds and their beaks’ would best give

the child an opportunity to argue and

analyse ?

(I) Why do birds have differently
shaped beaks ?

(2)  Name a bird and describe its beak

and explain how the shape of its
beak is related to its food habit.
The beak of a bird is long, straight
and pointed with sharp edges.
What kind of food would it eat ?

Describe the beak of a parrot.

(€))

4
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63.

WA &l € | I9da ferr @ SuE

e
(1) w9 Fior s & ferg

(2) i e & few
(3) uRwifeat & few
(4) SIS A & feT

‘gl AR IR S W smaRe

frfofas & & s gy o= =t o

3 3R Favewur F33 w1 srae e

*i gfe @ wdsa ¥ 2 :

(1) qﬁiﬁﬁﬁﬂ%mﬁﬁqﬁmmﬁ
Bl & 9

Wﬁw:‘mﬁ"ﬁﬁmwﬁﬂw
0 FTY s e e e ga
T H AR JHH @ ) e 3
F”—"‘W‘W%_l
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p-l
25
A class V teacher provides her student Y
nts

with a Neem leaf and a Mango leaf
ea
asks them to state in which way t::ld
- 4 e
arc similar to and different from :'1
ac

other. Which one of the followi
ing

process skills will be used j
N answerin
g

this question ?

(1) Hypothesizing
(2) Predicting

(3) Observing

4) Measuring

65. Mecta always asks her students some
open-ended questions in an EVS class.
Her main objective could be developing

students’ :

(1) convergent thinking.
(2) listening skills.

(3) creative thinking.

(4) speaking skills.

66. The present syliabus of Environmental

Studies is woven around some

common themes. Which one of the
ist of

following is not included in the 1
themes ?

(1) Water

(2) Air

(3) Food

8 afrdt aive arTw @ aft Iaeet IR
tmﬁwﬁ*hﬁt%ﬁ
fra i @ wae § 3w R W E |
wﬁm%lwmmmﬁﬁ
frefafaa § ¥ ®AAT THHAT NI
FEAHTE T 2

(1) uREhear HTT

(2) FEH T
(3) A B

(4) HGA

os. s wAW wateRw s B
sra et & e 3 AR SO R
¥ |m§mwam%ﬁmﬁﬁ!ﬁ
¥ wrfaem s |

(1) e e

@) W EEd w
(3) G e
(4) en Hed DA

66. TaTERUT AT BT T TCHRA T
[ faedt F AR WO T

Preffas § / ST g ww T
T2

(1)

2) 9

(3)

(4) EE

(4) Shelter
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67.

68.

69.

Which one of the following statements on

EVS is in accordance with NCF-2005 ?

(1) EVS to be taught as EVS
(Science) and EVS (Social
Science) in classes [ to V

(2) EVS to be taught as EVS
(Science) and EVS (Social

Science) in classes | and Il but as
a composite area of study in
classes Il to V

(3) EVS to be taught as a composite
area of study in classes [ to V

(4) EVS to be taught as a composite
arca of study in classes I and II but
as EVS (Science) and EVS (Social
Science) in classes [l to V

A teacher organizes a group discussion on
the topic, “Saving Water™ in class V. The
purpose of organizing this discussion is :

(A) to give an opportunity to all

students to speak.

(B) to develop multiple perspectives.

(C) to manage the class-room
effectively.

(D) to judge the students.

Which one of the following is correct ?
(1)  (A)only

(2) (A)and (D)

(3) (C)and (D) only .

4 (A)&(B)

‘Observation’ and ‘Recording’

are indicators of assessment. Which

one of the following is the least

appropriate way for assessment of

these skills ?

(1) organizing a
community.

(2) conducting a paper-pencil test.

(3) conducting activities in class-room

(4) planning field visit to a nearby park.

survey of the

Scannea py Camscanner

(26)

" 6?’

68.

69.

(3) mmmgmﬁmml
o a1 1A
e [ & vV # TEARRO AT

(Rt @i TR AT (ST

foqg) & ©9 | YgHr ST |

(©)
(D) Tienfirat &t wt==T |
Prefrfaa R wTE T2
(1) @& (A)

(2) (A) @1 (D)

(3) %ad (C) 741 (D)
(4) (A) T (B)

‘EeET qar ahma  (Reifem
AHEA F Hhaw ¢ | Fratfeas F @
HIA-AT TABT §¢ AT B & 0
HaH HH IUGEH ¢ 7

(1) UHRIE S GEI0T ST e |
(2) wr-ufer SR e ST |
(3) = ® nfafafaat & g9 |

(4) g & Uk 7 &7 yHor @) g
ECICIN

ks



70.

71.

7.

A class V teacher and her students each
grew a rajma plant in their respective
plots. Every two days they checked its
length and noted it. After 3 weeks, all of
them depicted their results through
graphs. The process skills
emphasised in this tasks are :

§))
(2)
3)
4)

being

Hypothesising and Inferring
Predicting and Inferring
Calculating and Predicting

Measuring and Communicating

Which one of the following will be
effective for transacting the concept in
class 5 ?

“Some materials float and others sink
in water.”

(1) Through observation and
discussion
(2) Through observatiomn, experimentation

and inferencing.
(3)
4

Through survey

Through observation

Which one of the following cannot be

an indicator for assessment of EVS at

Primary Level ?

(1)  Analysis

(2) Co-operatjon

(3) Concern for justice
(4) Retention

Scanned by CamScanner
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70.

71.

72.

U

aiarel e st ffient war 3w fenfoai
A - T F U TS @ g
T | ¥R R & uve @ W e
witas war fores | 3 WL & v 3T

it 7 IR qRomt w5 TrE & e |/
T |

74w | R weewur @ty ot e far
™ aE:

(1) e qar A e

(2) wfasgamit ST qar SFAA T
(3)  TTUTT SHTAT T A ST

(4) TG T wEife ST

g agt et ¥ R § 0 I Al
it % g@ e €, - 9F AR HET 5
# freffaa & } fewd grr e
i @ wurfee gt 7

eor R Tt & g

Sheqor, w3 freed freem & aR
HAOT & ERT

WeAUT & FRT

)
(2
)
4

fFrafafas & @ s it w7 w
QaTaRuT Ea & AT BT Hbad el
T H®ar ?

(1) foreetuor

(2) wEEm

(3) A % foT SR

(4) HuRor
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73.  Which one of the following is most

important for a mountaineer to carry ?

(1)  Sleeping bag
(2) Oxygen kit
(3) Blanket
(4) Torch

74. Which one of the following States /

Union Territories has a coast on the

Bay of Bengal ?

(1) Goa

(2) Gujarat

(3) Puducherry

Kerala

(4)

75. An example of a plant / tree whose
seeds travel from one place to another

by water is :

(1) wheat

(2) dates
(3) apple
(4) coconut
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73.

74.

75.

(1)
(2
(3)

(4)

(2)
3)

Q)

URU/AE T T ISTET0T foas dist ur
¥ ERT A0 S U ®H | g ==
THEARE

(1 K

2) @[

(3) @«

(4) fEe



